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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 3.84|M/kWh
(1) BA¥ & R R Bl = (EPARMEHE —37,200) x ZL#EB{fi—1,000 = 2.74]F/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.4699 HAEE 0.197 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M Y 0.7879
EHREMER = Axa +Bx S8 +VXxy = 51,100 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 0.00]F/kWh
A BTADIVT7ITSARAFEHE-(1-18KFR) x HER 11.19 MADIV7ZISAREYIE 9.37
B: EJTIAEREEEM (Fiik) 8.00 BxE 7.9%
C: BMHEEAEE M (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 1.10|MH/kWh
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 4.81|M/kWh
(1) BR¥ & R Bl = (FPARMEHE —31,400) x ZL#EBi{fi—1,000 = 3.71|M/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.1152 HAEE 0.221 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.2714
C: tHI-YDTEHRRME 19,887 M Y 0.7386
EHREMER = Axa +Bx S8 + VX y = 48200 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 13.28 MADIV7ZISAREYIE 11.05
B: EJTIAEREEEM (Fiik) 7.00 BEkE 8.5%
C: BMHEEAEE M (Fik) 14.00 AR 110%
D: #EEE 70%
4) REHEHAIREE 1.10|MH/kWh

Uk




RREHNTUT7EE]
I1=F50, SUTNTSUSN OEEEE

20254

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHRICETINOIMHMEFABEMEZ. TEORBYESMLELET,

1A%

MHEFHBEEM@O LMo

ELIL'::].-"

BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 5.87|M/kWh
(1) BA¥ & R Bl = (CE PRI —44,200) x ZL#EB{fi—1,000 = 3.76]F/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.1970 HAEE 0.232 M
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.4435
C: tHI-YDTEHRRME 19,887 M Y 0.2512
EHREMER = Axa +Bx S8 + VX ¥y = 60,400 M (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 1.01)F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 15.31 MADIV7ZISAREYIE 12.96
B: EJTIAEREEEM (Fiik) 7.00 BxE 6.9%
C: BMHEEAEE M (Fik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 1.10|MH/kWh
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 3.14|M/kWh
(1) BA¥ & R Bl = (CEPAEMEHE —45,900) x ZL#EBi{fi—1,000 = 1.98| 1 /kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0275 HAEE 0.233 M
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.4792
C: tHI-YDTEHRRME 19,887 M Y 0.4275
EHREMER = Axa +Bx S8 + VX ¥y = 54400 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.06]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 13.07 MADIV7ZISAREYIE 11.04
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.1%
C: BMHEEAEE M (Fik) 13.00 AR 110%
D: #EEE 70%
4) REHEHAIREE 1.10|MH/kWh
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BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 4.03|M/kWh
(1) BR¥ & R Bl = (E ARl —21,900) x ZL#EB{fi—1,000 = 2.93]/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.2303 HAEE 0.161 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M Y 1.1441
EHREMER = Axa +Bx S8 + VX 7y = 40,100 H (100 KEEERAN)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 12.74 MADIV7ZISAREYIE 10.68
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.8%
C: BMHEEAEE M (Fik) 13.00 AR 110%
D: #EEE 70%
4) REHEHAIREE 1.10|MH/kWh
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+AORENHERIELE= B 1D 15kWhET A 66.50 A
LS A 443 F/kWh
(1) BR¥ &R E M = (CEY BRI —27,100M) x ZL#EE{fi 1,000 = BHYD15kWhET 50.00| ™
202552 H ~20255F4 A FHD B S FHmE Lot 3.33|H/kWh
A: 1KkIBHT=Y DR R 75,324 { a 0.0140
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.3483 ~15kWhEL#E B iy 2475 A
C: tHI-YDTEHRRME 19,887 M Y- 0.7227 16kWh ~ EL £ B {fff 0.165 [
EHREMER = Axa +Bx S8 +VXy = 47,300 H (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 91,452 { 0.0000
C: 1tHI-YDTEHRRME 19,887 M e 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 12.74 MADIN7ZISAREYIE 10.68
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.8%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.10|MH/kWh
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BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+AORENHERIELE= B 1D 15kWhET A 79.43 A
LS A 5.29 F/kWh
(1) BA¥ & R Bl = (Y PAEMEHE —26,000/) x ZL#EE{fi—1,000 = BHYD15kWhET 62.93|M
202552 H ~20255F4 A FHD B S FHmE Lot 4.19]F/kWh
A: 1KkIBHT=Y DR R 75,324 { a 0.1543
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.1322 ~15kWhEL#E B iy 3.680 M
C: tHI-YDTEHRRME 19,887 M Y- 0.9761 16kWh ~ EL £ B {fff 0.245 M
T = AXxa +BX B8 +VXxy = 43100 M (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 91,452 { 0.0000
C: 1tHI-YDTEHRRME 19,887 M e 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 11.21 MADIN7ZISAREYIE 9.41
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.7%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.10|MH/kWh
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BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+AORENHERIELE= B 1D 15kWhET A 46.35 A
LS A 422 F/kWh
(1) BA¥ & R Bl = (Y PAEMEHE —26,000/) x ZL#EE{fi—1,000 = BYD1TKWhET 34.25|M
202552 H ~20255F4 A FHD B S FHmE Lot 3.12|™/kWh
A: 1KkIBHT=Y DR R 75,324 { a 0.2104
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0541 ~11kWhE 2B 2.154 M
C: tHI-YDTEHRRME 19,887 M Y- 1.0588 12kWh ~ EL £ B {fff 0.196 [
EgEfiE = AXxa +BX B8 +VXy = 41,900 M (100 KEFEEERAN)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 91,452 { 0.0000
C: 1tHI-YDTEHRRME 19,887 M e 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 11.01 MADIN7ZISAREYIE 9.20
B: EJTIAEREEEM (Fiik) 5.00 BEkE 8.1%
C: BMFHEEAEEM (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEAIREE 1.10|MH/kWh
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BADBIHEICSFTNIRHMEFHBEME. TELOBYSHSELET.

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 2.72|M/kWh
(1) BR¥ & R B = (CEY PRI —27,400) x ZL#EBi{fi—1,000 = 1.55| 1 /kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0053 HAEE 0.136 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.1861
C: tHI-YDTEHRRME 19,887 M Y 1.0757
EHREMER = Axa +Bx S8 +VXxy = 38800 H (100 KEEERAN)
(2) BB —/N\—Y )L Y —E R B fi= (B & F R #HI4E —52,500) x EEB{H 1,000 = 0.07)]FH/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 1.0000 HAEE 0.003 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M Y 0.0000
EETEYMREMEKR=AXx o +Bx S8 + VX y= 75300 (100 REEERAN)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 0.00]F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 11.28 MADIV7ZISAREYIE 9.37
B: EJTIAEREEEM (Fiik) 5.00 BxE 8.6%
C: BMHEEAEE M (Fik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 1.10|MH/kWh

Uk




